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HTML |22

<div class="1left_input_area">
:’(input Id="x_array_l" class="input_design" type="number" min="1" max="12" placeholder=
i(input Ic="y_array_l"class="input_design" type="number" min="1" max="12" placeholder="&">

</div>

<div class="button_area">

'/(’div Iid="button_random" class="button_design")lt%%@</div;

i(div Ig="button_empty" class="button_design">2!% =i</div>

i(div Id="button_plus" class="button_design">C{3}7|</div>

i(div Id="button_minus" class="button_design">Hlf7|</div>

i(div Id="button_multi" class="button_design">&35}7|</div>

I Ig="button_reset" class="button_design">Reset</div>

3

\
\

e

<div class="right_input_area">

:‘(input Id="x_array_r" class="input_design" type="number" min="1" max="12" placeholder="3i">
l\(input Iig="y_array_r" class="input_design" type="number" min="1" max="12" placeholder="&">
</div>

1
1
1
1
1
1

>

s, HEYE,
Ci5t7], 7], &5t
x|t HEYLICE

’
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HTML |22

\
\

/

<p class="explain_ment">A Hj E</p>
<p class="explain_ment">Z I}t S</p>
<p class="explain_ment">B Hj E</p>
/<div class="print_div"> A

N,
Ay

<div ig="print_area_l" class="print_area_l1"></div>
</div>

<div class="print_div">

<div ig="print_result" class="print_result"></div>
</div>

<div class="print_div">

<div ig="print_area_r" class=“print_area_r")(/div>I
AY
¢ /div>

’

<div id="wrong_box_t" class="alert_div'>Z}Z& i1} 2= E<br>ZE G}

<div ig="back_plus_button" class="back_button">&0}7}7|
</div>

</div>

<div id="wrong_box_m" class="alert_div">Z} S ZO|<br>3intH0| M Z ZO0}O0}
<div ig="back_multi_button" class="back_button">ZO0}7}7|</div>

</div>

~

~

ZOLOFBILICE.™,
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4. JavaScript

P17~P25
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t/us.x,array = x_array;
this.y_array = y_array;

this.return_left = this.array_left_bank();
this.return_right = this.array_right_bank();

I
1
1
i
: this.id_num = id_num;
1
1
i
| this.check_comma = this.add_comma();

CHS HigS 2= .
THE U2 A/BAZES Mg efLict

od

JavaScript

Class2 ZHX|E Bt=1 20{& D), &9
M4, GOl JHE o7 Ha2 7HY SLC

£3 Y2 MY 4, 20 Z0H)S

make_random_number () {
let empty_array = [];
let empty_string = "";
let i=0;
let j=0;
while(icthis.x_array) {
empty_array.push([]);
while(j<this.y_array){
Ifemptyfarray[i][j} = Math.floor(Math.random()*(99-0+1)+0) ;
1 empty_string +='<input id="'
J+t5

\
1
5 . : i
+this.id_num+i+'_'+j+'" class="each_cell" type="number" value="'+Number(empty_array[i][i])+'"> 51

Y
i=0;
return empty_string;

18
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JavaScript

JavaScript

make_empty_number(){
let empty_array = [];
let empty_string = "";
let i=0;
let j=0;
while(i<this.x_array) {
empty_array.push([1);
while(j<this.y_array){
empty_array[i][j] = 0;
- - o

IH
i=0;
return empty_string;

Ha 77|

array_left_bank = () = {
let empty_left_bank = [];
let div_string = "";
let i=0;
let j=0;
while(i<this.x_array){
empty left_bank.push([1);
{ while(j<this.y_array){
: empty_left_bank[i][j]=$("#"+this.id_num+i+'_'+j).val();
A

2 as Xge =0l gEL o "
=0;
1++;

1
return empty_left_bank;
I

19
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JavaScript

plus_two = (argl, arg2) => {
let i=0;
let j=0;

let part_sum =

let array_string =

if( argl.length == argz.length && argl[0].length ==

while(i<this.x_array){
while(j<this.x_array){
If part_sum = parseInt(argl[i][j]) + parselnt(arg2[i][j]);

array_string += '<div class="result_cell">'+part_sum+ </d1v>l

5

arg2[0].1length){

return array_string;
} else { ‘:
$("#wrong_box_t").css("display","block"); 1

15

| g0l M 242 71N %t 7| LT

R7S O #/20| 47t BAl0) Ratelx| 42 B
An2S =Lt

7tMet Hstr|E gL

2
A=
Eoz we #/ge 447t B0 e
=2 s s
=

[ 2O N J

minus_two = (argl, arg2) => {

let i=0;

let j=0;
let part_sum =
let array_string =

if( argl.length == argZ.length &% argl[@].length == arg2[@].length){

while(i<this.x_array){
while(j<this.x_array){
= parselnt(argl[i][j]) - parseInt(arg2[i][j]);

' array_! strlng += '<div class="result_cell"> +part_sum+ '</div>' )

5

return array_string;
("} else {
: $("#wrong box t™).css(“display" . "hlock™) s

15
b
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JavaScript

multi_two = (argl, arg2) => {
let i=0;
let j=0;
let k=0;
let part_sum = 0;
let array_string ="";
1f( argl.length == arg2[@].length && argl[0].length == arg2.length){

while(j<argl.length){ E
while(k<argl[@].length){
part_sum += parselnt(argl[i][k]) * parseInt(arg2[k][j1); |
k+; E
,I

array_string += '<div class="result_cell">' +this.add_comma(part_sum) + '</div>';
part_sum=0;
k=0;
i+

Y
return array string;

} else {
$("#wrong_box_m").css("display"”,"block");

~
{ |
1 1
1 1
1 1
LY 7

ihs
I
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JavaScript

i=without_comma. length-1;
add_comma(arg){ while(i>=0){

let comma_length= 1; ,~°" comma_array+=without_comma[i]; ™,
’

let comma_array=""; if(comma_length%3 == @ && i !=0){‘

let without_comma=""; comma_array+=(",");

let result_number=String(arg); L

. comma_length++;
let string_revers=""; )

i

- =0; b5
while(i<result_number.length){ i=comma_array. length-1;

If(result_number != ","){ while(i>=0){

without_comma += result_number[i]; \ string_revers+=(comma_array[i]); !

i--; /

return string_revers;

1

Al 2hol A THR|7F Ho7HHE F0H()E HELICt
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JavaScript

case 'button_random':
$("#wrong_box_t").css("display”, "none");

nerat x('each_idl',$("#x_array_1").val(), $("#y_array_1").val());
make_right_array = new ge atrix('each_idr', $("#x_array_r").val(), $("#y_array_r").val());
$(".print_area_1").css("width", 50%$("#y_array_1").val()+'px').css("height", 50%$("#x_array_1").val()+'px');

=
rim
mjo
4r
I
rl:l
>

$(".print_area_r").css("width", 50*$("#y_array_r").val()+'px').css("height", 50*$("#x_array_r").val()+'px'); =
$("#print_area_1").html(make_left_array.make_random_number()); : / B HHIOE:‘ Acljg% '?'l OH
$("#print_area_r").html(make_right_array.make_random_number()); _ _ _
HHE SAkstL ID / &2l 74 / Bl
=2 QX2 5101 70| HH(R]) /
HE O YES HELI
. A7t S3E= 29| A7|E ZFESH| ?I5
case 'button_empty': 30H / OE:|9_| 7H¢§ —:—EOIQI' LﬂHl% EEIEI'LlE.I'

$("#wrong_box_t").css("display”, "none");
$("#wrong_box m").css("display”, "none");

”make_left_array = new genera ‘each_idl',$("#x_array_1").val(), $("#y_array_1").val());

make_right_array = new ge x('each_idr', $("#x_array_r").val(), $("#y_array_r").val()); i
$(".print_area_1").css("width", 50+$("#y_array_1").val()+'px').css("height", 50+$("#x_array_1").val()+'px');
$(".print_area_r").css("width", 50+$("#y_array_r").val()+'px').css("height", 50%$("#x_array_r").val()+'px')i
$("#print_area_1") .html(make_left_array.make_empty_number()); i

v 3$("#print_area_r").html(make_right_array.make_empty_number()); ,

break;

23
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JavaScript

case 'button_plus':
$("#wrong_box_t").css("display”, "none");
$("#wrong_box_m").css("display”, "none");
$("#print_result").html(*");

’

$(".print_result").css("width", 50*($("#x_array_1").val())+'px").css("height"”, 50*($("#x_array_l").val())+'px‘)%
. $("#print_result").html(plus_div.plus_two(bank_plus_left.array_left_bank(),bank_plus_right.array_right_bank()))}

-

case 'button_minus':

$("#wrong_box_t").css("display”, "none");

$("#wrong_box_m").css("display"”, "none");

$("#print_result").html("");

bank_minus_left = new generate_matrix('each_idl',$("#x_array_1").val(), $("#y_array_1").val());

bank_minus_right = new generate_matrix('each_idr', $("#x_array_r").val(), $("#y_array_r").val());

minus_div = new generate_matrix('each_id', $("#x_array_r").val(), $("#y_array_r").val());

$(".print_result").css("width", 50%($("#x_array_1").val())+'px').css("height"”, 50*($("#x_array_1").val())+'px');

\ $("#print,result").html(minus,div.minus,two(bank,minus,left.array,left,bank(),bank,minus,right.array,right,bank())y
break;

AY
1
1
1
1
1
1
1
1

’
]
1
1
1
1
1
1
1
|}
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JavaScript

case 'button_multi':
$("#wrong_box_t").css("display”, "none");
$("#wrong_box_m").css("display”, "none");
$("#print_result").html("")
(Bank_multi_left = NEew gene trix('each_idl',$("#x_array_1").val(), $("#y_array_1").val());
| bank_multi_right = new matrix('each_idr', $("#x_array_r").val(), $("#y_array_r").val());
multi_div = new generat

7
’
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5. Sass

P26~P28

W,
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Sass | =2

“width: $w1dth

height: $main_input_height;
display: $display_in_bl;
margin: auto;
margln top: $margin-top;
“Float: Teft; :
margin-bottom: 2px;
.button_design{

display: inline-block;

width: 80px;

height: 30px;

font-size: 18px;

line-height: 30px;

border: 1px solid #d8d8d8;

border-radius: $border_radius;

cursor: pointer;

margin: @px 2px 1px 2px;

}

width, height, display, margin-top &

Sass2| H

{ $width: 33%;

4

E $main_input_height: 35px;
1
! $display_in_bl: inline-block;
1
\$margin-top: 5%;

A

\,

2 Mooz O|2| MA o] ZhA

=

=X

ot

72
HA =
oA
=

L|CF.
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»x

Sass | = oce

.each_cell{
width: 4@px;
height: 40px;
float: left;

: $cell_margin_left;
margin-top: $cell_margin_top;
font-size: $font_size;
border-radius: $border_radius;
color: $cell_text_color;

\
~

outline: none;

( 2O N
.result_cell{

width: 4@px;

height: 40px;

float: left;

border: 1px solid #d8d8d8;
line-height: 45px;

_font-size:12px;

___________________ .

’ margin-left: $cell_margin_left;
margin-top: $cell_margin_top;
border-radius: $border_radius;
color: $cell_text_color;

\background—color: $cell_background_color

Y $cell_margin_top: 7px;

$cell_margin_left: 7px;
$result_font_size: 12px;
$font_height: -7px;

$border radius: 12.5px 14px 12.5px 14px;_

margin, font-size, border & Sass2| B
Melo = 0|2 47350 g5t} & L Lt

4

\
1
1
1
1
1
1
1
1
1
1



http://kkms4001.iptime.org/~c12st18/portfolio/ARRAY_CAL/ARRAY_CAL.html

&0| ZEE = o= AU HH| AE0f| A

101 Efelel =& §l0|

e}

SLICh

ALt

29



LIt

Al

k

nO




